HUTEE TR FIR

HHEERS AT =8
A 0 0
iz 1] 0 0
®E 0 0
v | 0 0
i) 0= ] 0 0
==an 0 0
HEEE 000% 000%
DAL S T3 L7 ) /A s e 11 B0 L /A S = = (e S 15T /A v =
o IECABETR
HAHESPs AR =18
i 0 0
iz =] 0 0
#E 0 0
5V IE]| 4 4
BRI 0 0
5 OFHEETEEE 0 0
4 QSN E] 0 0
/15 1€142) 0 0
==an 4 4
e 000% 000%
BEEE FERYESE) 0.00% 0.00%




AR

P E5F] ZEE =11

A 0 0 0 0

iy = 0 0 0 0

V| 6 1 0 7

5 @) 5aniisc S 1 0 0 1
43t QA 0 0 0 0
) 1 0 0 1

=18 7 1 0 8
e 14.2%% 000% 000% 12.50%
PR GRS 0.00% 0.00% 0.00% 0.00%

* THRIWEGE ) fE A R AR TR SR A R A R e
3¢ TSN ) 2SI R R A R R A e S e 2

P E5F] HAEER AR =11
Bt 0 0 0 0
B 4 5 3 12
ki) 0 0 0 0
BERRA 0 0 0 0
== 4 5 3 2
e 000% 000% 000% 000%




5 TSRS Fik
HIHEXAs AR =18
FIfiE 0 0
Eis =] ] 1
e 0 0
v ]| 0 0
Biziioa] 0 0
=1 1 1
it o 000% 000%
DS g = 1 70 e e | 5V ) /A = b= LU e s 11V /A R
[ WISz e 2ay
HEXRs AR ==11
FIfig 0 0
Al 0 0
s ] 1
JivIE| 18 18
FEEEVA 0 0
58y (1\)%)@%}%@% 0 0
oo QA E] 1 1
/1516142 1 1
=11 20 20
Bisiie o 500% 500%
BoEE FLEREes) 5.00% 5.00%




P 5] EHE =1
S 0 0 0 0
byl 1 1 0 2
| 47 39 0 6
- (DFEEEE 4 5 0 9
4 QAN 12 11 0 3
i) 16 16 0 g7
=11 A % 0 120
e 2500% 28.57% 000% 2667%
B GLEREss) 18.75% 19.64% 0.00% 19.17%

¢ THEHWRGE ) TR A e e el I SR A B e e e
5 B ) SRR RS B I S R 2

Tt IS Sl Sy
P EF ISR A =11
=z 0 0 0 0
e 4 %6 11 81
HEH 0 0 0 0
e 0 2 2 4
=18 44 0 13 &5
HEEs 000% 000% 000% 000%




